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Note : Use separate answer sheets for Part-I and Part-1I. Be
brief and precise in your answers. Draw neat and labelled

diagrams, wherever necessary.

PART- I
ANIMAL PHYSIOLOGY
Note : Question No. 1 is compulsory. Attempt any four
questions from question No.2 to 6.
1. (a) Fill in the blanks. 2
(i) Proteases hydrolyse bonds
in proteins.

(ii) In the equation for partial pressure

X
= —P:
P= 700
Xis the of specific gas in the

total volume.

(iii) During a heart beat cycle, the
maximum pressure is called
pressure.
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(iv) Dietary amino acids in the animals are
catabolised by the process of
transdeamination. ;

(b) Write one word answer for the following : 1
() The category of animals that can
tolerate wide range of salinities.

(i) Name of the long regulatory protein,

coiled along the groove between the
two chains of actin filarnent.
(c) Match the items given in column I with those 2

in column II.

column I column I1
(i) Poikilotherms (a) Asexual
| reproduction
(i) Parthenogenesis (b) Body temperature
fluctuation
(iii) Endorphins (c) Anterior pituitary
regulation

(iv) Hypothalamus (d) Peptide
neurofransmitter

i

(a) Listthe two categories of carbohydrases and 2
give one example of each.

(b) Briefly explain the mechanism of glucose 3
absorption from gut lumen and its transfer
to the blood stream.
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4. (3
(b)

What are the three types of pumping
mechanisms that move the blood in the
circulatory system in animals ?

In case of a haemorrhage in a human
circulatory system, what is the response of
the system to control the situation ?

Explain how marine teleost fishes maintain
constant osmolarity of their body fluids ?
Draw a diagram to show the hormonal
mechanism involved in vertebrate
osmoregulation.

5.  Explain the four major mechanisms employed by

homeotherms for losing heat. List the two

environmental factors that influence the amount

of heat loss.

6.  With the help of diagrams, explain the conduction

of action potential in both unmyelinated nerve

fibre and myelinated nerve fibre.

OR

Name four hormones synthesized by the

vertebrate ovary and briefly describe any one of

them.
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PART- II

Note : Question No. 7 is compulsory. Attempt any
four questions from question Nos. 8 to 12.
Draw diagrams wherever necessary.

7. Fillin the blanks. Attempt any five parts : 1x5=5

(a) N, and NOj, are the most common available
forms of inorganic nitrogen reduced
to

(b) Yellowing of leaves due to deficiency of
minerals is called

(c) Phloem sap is rich in

(d) Synthesis of ATP in presence of light is
called

(e) Stomata are closed when the internal
concentration of is maximum.

() ________ hormone can make dwarf plants
tall.

8.  Write notes on any two of the following : 21%4x2=5
(a) C4 plants
(b) Photorespiration
() Commercial applications of auxins

(d) Phytochrome
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9.  Explain any five of the following terms : 1x5=5

Totipotency, Photoperiodism, diffusion Red Drop,
guttation, serescence.

10. List different mechanism of phloem transport and
explain miinch pressure flow hypothesis.

11.  With the help of a suitable diagram explain the
events which take place in Phs I and Phs II.

12. Enumerate the micronutrients essential for the
plants. Discuss the role of zinc in metabolism and
its deficiency symptoms.

OR
Differentiate between any two of the following :
(a) Florigen and Vernapin
(b) P,and P

(c) Diffusion and osmosis
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